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&S X 4 Er%r'n‘c; ‘Fﬁb\(‘z)@ﬁﬁ%’é jj(iifn?)é Z 4 'Fﬁﬁﬁg\ézg;kzlz z.%r'n‘c)k jj(lfifn:é)é Z 4 ﬁf J:ﬁﬁb\(‘:)o)tt'.%' jj(lfifn?)é X 4 J:ﬁn“ﬁ;b\(i)o)tt‘.%' ‘(.%.r'g jj(&itr:f)é
7 100kN/mM#EBZ5 | 1.00 | 0.00 ~ 246 13866 |3mERBZB| 000 ~ 162|364 1841 | 100kN/m#%#z25 | 1.00 | 11.90 ~ 6315 158565 |3m&EBZB| 40.00 ~ 63.15| 5.64 1841
s 1.00 | 246 ~ 1025 100.00 | #nSt | 1.62 ~ 1025 3.00 16.16 st 1.00 | 6.00 ~ 1190 100.00 | =nst | 5.00 ~ 4000 3.00 15.16
2 100kN/m% %% | 1.00 | 000 ~ 262| 14113 |3mE#BZ%| 000 ~ 1.68| 3.67 1857 | 100kN/mi%#825 | 1.00 | 11.64 ~ 6387 141.13 |3m&EBZB| 4000 ~ 6387| 3.67 18.57
s 1.00 | 262 ~ 1040 100.00 | =hst | .68 ~ 1040 3.00 16.16 st 1.00 | 6.00 ~ 1164 100.00 | =nst | 6.00 ~ 4000 3.00 15.16
3 100kN/m%#8%% | 1.00 | 000 ~ 273| 143.01 |3mE#BZ%| 000 ~ 1.73| 3.70 18.69 | 100kN/mi%#825 | 1.00 | 11.47 ~ 6334 | 143.01 |3mERBZB| 20.00 ~ 6334 3.70 18.69
s 1.00 | 273 ~ 1051 100.00 | #nst | 1.73 ~ 1051 3.00 16.16 st 1.00 | 6.00 ~ 1147 100.00 | =nst | 6.00 ~ 4000 3.00 15.16
4 100kN/mM#EBZ5 | 1.00 | 0.00 ~ 333 1563.49 |3Im&EBZB| 000 ~ 198 35.86 19.49 | 100kN/mi%#825 | 1.00 | 10.76 ~ 6357 | 153.49 |3mERBZB| 3000 ~ 63.57| 3.86 19.49
s 1.00 | 333 ~ 1112 100.00 | =nhst | 198 ~ 1112 3.00 156.16 st 1.00 | 6.00 ~ 10.76 100.00 | =nst | 6.00 ~ 3000 3.00 15.16
100kN/mM%#BZ 5 ~ 3mEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ ZFhLst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ FhLst ~ Fhst ~ zhLst ~
100kN/mM%E#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ FhLst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ zhst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ FhLst ~ FhLst ~ st ~
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